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E6_9E_97_E6_A8_A1_E6_c104_561305.htm answer to question

39)4) the code will compile without errorthere are no restrictions on

the level of nesting for inner/nested classes. inner classes may be

marked private. the main method is not declared as public static void

main, and assuming that the commandline was java droitwich it

would not be invoked anyway.answer to question 40)1)

super.oak=1.2) oak=33.3) base.oak=22.because the variable oak is

declared as static only one copy of it will exist. thus it can be changed

either through the name of its class or through the name of any

instance of that class. because it is created as an integer it canot be

assigned a fractional component without a cast.answer to question

41)obje question 41)4) use the gettext method of a textfield and use

the parseint method of the integer classhere is an example of how

you might do thisinteger.parseint(txtinputvalue.gettext()).im not

sure that a question on this actually will come up in the exam but it is

a very useful thing to know in the real world.answer to question

42)4) none of the abovethe wrapper classes are immutable. once the

value has been set it cannot be changed. a common use of the

wrapper classes is to take advantage of their static methods such as

integer.parseint(string s) that will returns an integer if the the value

has been set it cannot be changed. a common use of the wrapper

classes is to take advantage of their static methods such as

integer.parseint(string s) that will returns an integer if the string
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